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; Grey line: exponential fit Peak flux: 3.112+/- 0.550 c/s/cm? ;
F Black Iing: p.ower law + gauss fit Fluence : 17.64+/- 2.92 c/lcm? 3
= Dashed line: power law Duration : 14.064/- 2.50 s =
; | Best fit model: 1. ;
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= Expon.time: 4.53+/- 0.74 s (chi*-red= 0.98) J
= b by L b Wit -
= ﬁﬁ%ﬁwﬁW ﬁuHw%mHTﬂm*Hnwﬁ#M%WHWHWnﬂﬁmmﬁﬁwﬁ% %HHWH*HH% WH&Nﬁﬁjﬁ%MWﬁHMHWH%WTﬂﬂw{ﬁﬂmﬁ #}HﬁHﬂHWﬂuﬂwﬂwt
= Power law fit E
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—  Power law fit plus Gaussian (st.dev.= 5.20+/- 0.47 s, fracgs= 0.59+/- 0.18) =
- Power law index: -0.613+/- 0.753 (chi*-red= 0.97) 3
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